RN Al A7

U 3 AR AR e 3 FHE « i /Aﬁgﬁ% /A%Bf}m% 2%@ FERR (s 5)
(F/nt) (1/nd) (%)
E - 1% - 1|E TR X AT 21473 224, 000 220, 000 1.8|E T 5 — 6
w3 - 2% = 2l TSR PG BT 19T 273,000 266, 000 2.6|PHEERT1 9 — 1 6
E - 3% - 3|EPATRE X 2T A 1507 210, 000 209, 000 0.5|%#2—-12—18
% -4 = AR TSR T H 9227202 114, 000 114, 000 0.0[BHT1—17—23
E - 5% - 5|EA TR X6 T H 118072541 92, 600 92, 600 0.0 M6 —-5—-37
B - 6% = 6| TR X ARAT96 7 1 203, 000 202, 000 0. 5|#kET 8 — 3
E - 7% - 7| TR T 3T F 2007368 122, 000 122, 000 0.0[i#aHR3—14—16
% - 8% - 8|ETEEX L2 T H 20%s 100, 000 99, 300 0.7
E - 9% - R RS 1167526 121, 000 121, 000 0.0/ FfzfE14—13
B - 10[% — 10| R S KR AR DAL 1327635 101 56, 000 56, 500 A 09
E - 11 - L1|F R T SEXMA T T F 5557 99, 200 101, 000 A 1L8#i%7T—-25—-33
£ - 120 - 12|ER TR 1T H 136473 132, 000 132, 000 0.0|k+1—-11-25
ES - 13| - 13|EEMTZE X GRAR2 T H 2067 1 136, 000 137, 000 A 0.7t2—-8—8
% - 14 = 14|F TSR T H 3675 161, 000 161, 000 0.0/ 1—9—3
E - 15% - 15|H T E X PE AL BT 1785731 103, 000 103, 000 0.0[FF#A4IT1 3—17
% - 16|% - 16|ETE XA )T H6T1%L 116, 000 115, 000 0.9[M%)II1—20—21
E - 17| - 17| TR X G 6875 103, 000 104, 000 A 1.0|F¥5-3
B - 18] - 18| E T X2 T H116%3 131, 000 131, 000 0.0'Ffn2—5—6
E - 19|% - 19|F AT X LS T A 53976 67, 400 68, 000 A09dk5—-1—-21
% - 20|% = 20| KM TSR KRR o BT ST 3813 11 66, 700 67, 000 A 0.4
E - 21)% - 21|F R TR X S T 13874 186, 000 186, 000 0. 0| KAAT2 —3 7
B - 22| - 22| ERE T X 4T H 550%3 145, 000 145, 000 0.0[HE4—-7—-45
E - 23|% - 23|F TR A2 T [ 76717 131, 000 130, 000 0.8
% - 24| - o4|E AT X PE 151032721 4% 44, 300 45,200 | A 2.0
ES - 25|% - 25| F R T R\ B S 965 22 37,700 38, 600 A 23
w3 5 - 1% 5 - 1| TS X ERAT2 T F 678 1,510, 000 1, 500, 000 0.7
E 5 - 2% 5 - 2| T2 X IERINT 147 1254 163, 000 162, 000 0.6[75PAAT1 4 —1 4
w3 5 - 3% 5 - 3|HnE TS X AT 473 772, 000 740, 000 4.3
E 5 - 4% 5 - 4|FATEXAIEIOT A 17 168, 000 168, 000 0.0
B 5 - 5|3 5 - 5|fn TS K ARRT2 T [ 4% 240 970, 000 920, 000 5.4
E 5 - 6[% 5 —  6|fd T XIEE2T H4E19 340, 000 327, 000 4.0[EF2—4—41
% 5 - 7% 5 - 7|2 XEEEe T H5%&34k 165, 000 165, 000 0.0|BiH6 — 5 — 3
E 5 - 8% 5 = 8|HATH 28 X EREMT 947454 198, 000 198, 000 0.0
% 5 - 9% 5 = 9| # T RE K\ EHT 2% 13 159, 000 159, 000 0.0
ES 5 - 10[% 5 — 10| #fi i X R VE P 184 235, 000 233, 000 0.9|RWM7—10
B 5 - 11|13 5~ 11|##f 28X 4 AT 1195 193, 000 193, 000 0.0
ES 5 - 1203 5 - 12|HM TS X ARATLT H 171354 570, 000 539, 000 5.8
B 5 - 13| 5~ 13| 2 XAREMTOE 1154 538, 000 492, 000 9.3
ES 5 - 14[3% 5 - 14|FMTZE R AENT3T H 675 243, 000 238, 000 2. 1|HHAERT3 —4— 1 4
% 5 - 15% 5 — 15| {28 KA 26 7 1 179, 000 179, 000 0.0
ES 5 - 16[% 5 = 16|28 R o IR 1 208, 000 206, 000 1.0
B 5 - 17|13 5 - 17|H TSR ALENTLT H 276 267, 000 259, 000 3.1
ES 5 - 183 5 = 18|H TR XK IEET 307 1 151, 000 151, 000 0.0
% 5 - 19[% 5 - 19|§ X TRETT A 1078154 192, 000 192, 000 0.0/ FfLM7-9-34
ES 5 - 20[% 5 - 20|FM TS XA E 1T A 40571 146, 000 146, 000 0.0/ 1—14—26
% 9 - 1% 9 - 1| EE AT 24208815 68, 200 67, 700 0.7
L230) - 1| = 1| R TR X R PERT 25172 204, 000 204, 000 0.0[KEFAT1 0 —2 1
730 - 2B = 2|W R TEAT X L 15T H 2087 12 98, 500 98, 500 0.0|LT7-56—10—6
L230) - 3|EE - 3| THEAT XA T [ 2597 1 177, 000 177, 000 0.0/ 1—7—14
73] - A|BRT = A|ER R BRI K A BT 2 F2919%15 87,900 87, 900 0.0
* BRI - b|EET - 5| TERA X3 T H 39672 191, 000 191, 000 0.0|FBM3—5—8
[230) - 6B = B[ TEAI X P 3T H 6887 1 193, 000 193, 000 0.0/fH3—-8—-29
L230) - T|BET - T|E R TRER X HcH2 T F 1457 110, 000 109, 000 0.9#t2 —5—5
[230) - 8| = 8| BRI X 45T H 5437 11 157, 000 155, 000 L3h&s-9—-17
SR U b 7 S

s
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RN Al A7

TR TR VE M 7 75 FHE « i /Aﬁﬁ?ﬁ% /Af?gf}ﬁ% Q%? EmFER (R 5)
(FM/nf) (F3/nf) (%)

L<0) L 3G - 9| TR X SR AT8 4 234, 000 231, 000 135074 — 8
Lz30) - 10|BE{ = 10| TR X [E 5 5 T 31 142, 000 142, 000 0.0|E&EMS —3—17
(230 - 11 |BE = LR TR M AR 8T6 8 1141 112, 000 112, 000 0.0
L0 - 12| = L2 TN X 7 f AR 114398 124, 000 124, 000 0.0
[230) - 13|BEi = 13| TR AT X V5 e I 75 965 54k 40, 400 41,500 | A 2.7
Lz30) = 14| B - LA| I TR PR SR - 453135783 66, 300 67,500 | A 1.8
(230 - 158 - 15| B X X5 1T A 7196 130, 000 130, 000 0.0[%E1-20—-24
L20) - 16|BE = 16| K TR X S AR 3274 % 46, 800 47, 800 A 2.1
[230) - 17|BE = 17|E R TER X R4 T H9T9% 125 43, 100 44,000 | A 2.0/F4—-11-3
Lz30) - 18|B = 18I TR X LT ) | 48078 93, 500 93, 500 0.0
(230 - 19|BEi - 19| R TR X4 FHT907 T 95, 700 96,200 | A 0.5|8H15—8
L230) - 20|BR{ = 20| KA TR X FIES T H 1162565+ 76, 400 76, 800 A 0.5 F)IH5—-16—-10
[230) - 21 |BEiA - 21|ER TR XK EFS T H 27485 45, 200 47,000 | A 3.8/EH5—19—7
L20) ~ 22 = 22|F TR KR EF2 T H 91356 81, 000 81, 000 0.0[/k¥2—-19—-15
(230 - 23|Bki - 23| BRI X Hh 423 T H 10675 162, 000 161, 000 0.6/Mi43—-11—-31
L20) ~ 24|Bk{E - 24| KA TR X HCET 3 T H 7072865 114, 000 114, 000 0.0|H#HM3—-30—-11
L<0) - 25|B - 25| TSR DX o SR - 506 7 1 145, 000 145, 000 0.0
L20) - 26|BR - 26| KM TBER X2 T H 2% 13 183, 000 182, 000 0.5 K12 —6—22
230 — 27| - 27| Kl TSR X R B ) R 7248 11 95, 500 95, 500 0.0
L230) - 28|BR - 28|k TR X Hh 46 T H 6657 341, 000 341, 000 0.0[Hi4:6 —7—28
BER 5 - LBER 5 - L|FER TR KSR T B 26954k 183, 000 181, 000 L1BH2—-15-13
L20) 5 - 2B 5 = 2| # i iR IR AT 114 245, 000 242, 000 1 2JRHT 5 — 7
L<0) 5 - 3|ER 5 - 3| TR X AT 23 341 745, 000 731, 000 L9|MElr11—6
L20) 5 - 4{ER 5 = 4| Hpf TR X A 4T H 81k 172, 000 171, 000 0.6|E# M4 —9—3
230 5 - 5|EE 5 = 5| A AR FET2E42 357,000 353, 000 L1#&TFIT4—21
L20) 5 - 6B 5 = 6| # B X R T 257%8 342, 000 339, 000 0.9|HHT 5 —2 0
BR[O 5 - TEEW 5 - 7|FERTEAN X B2 T B 17872 125, 000 124, 000 0.8|BH2—25—-5
L20) 5 - 8B 5 = 8| #i iR X HUHT 3T H 696%4 124, 000 124, 000 0.0|HHM3—1-6
BER 9 - LfBERET 9 - 1|FETEAI X B M2 T B 908 %1 91, 000 89, 000 2.2/8mM2—-4-32
L20) 9 - 2B 9 = 2|Hpf TR X AL AL 1T H 1209717 43, 300 43, 300 0.0[dt71—-6—-53
] 9 - 3|EET 9 - 3R BRI X 22453 T H 2447541 147, 000 146, 000 0.7|M%fE3—2—21
L20) 9 - A|BAT 9 = A|FRRE TR X AR T H271% 45, 000 45, 800 A L7HFE1—-22-29
L<0) 9 - 5|EE 9 = b\ F TR X AT ET 39472 120, 000 120, 000 0.0
K SR TS - LEEETTEAKKATE LT A 725%40 43, 200 45,100 A 42F1—13-38
RN - 2|l - 2|RMTTE KR T B T0%E 144 103, 000 104, 000 A 1LO)I3—7—29
7N - 3[ik = 3|E R T K KRS ERT4T07 166 99, 000 100, 000 A LOFNEATT 42
1K - Al - AR T K DR R P R 34075 96, 200 95, 700 0.5
K - 5lifk - 5|FEMTTEAKKED T2 H 1668230 60, 800 61, 300 A 0.8[Ejf2—11—14
1K EIGES = O|w R I K X R LT B R L1587 494 64, 100 65, 700 A 2.4
K LS - TR TS KK E N =5 bk8 162534 78, 700 80, 000 A 16
1K - 8lifk - 8| AT R ST R S 55272 79, 500 80, 000 A 0.6
K - 9litk = 9|E R TIK XK KT 23672 116, 000 116, 000 0.0| Bif/AkMT 1 4 -39
1K - 10[iFK - 10|F# R T K DA BORIT 289 74 114, 000 115, 000 A 0.9
7N - 113K = 11| E R T K DK T 2228 28 128, 000 128, 000 0.0| N6 — 3 7
1K - 1203k - 12|EERTTE K GRS 4T H 22733565 101, 000 102, 000 A 10
K - 133k - 13| T K R IR R T8 174 127, 000 126, 000 0. 8| IGFFEMIT 7 — 1 1
1K - 14[iEK - L4|RERE TR K DR TS 453657562 68, 500 69, 400 A 13
K - 153k - 15| A X i Es 129 1 61, 000 62,500 | A 2.4
1K - 163K - 16|FE R T K D - 8 R 262755 90, 600 91, 800 A 13
K R ULEYS = 17| KR T K DA R S 39425 25 52, 500 54, 400 A 3.5
K - 18|k - 18|REMTTE KR T H 460978 42,700 44, 800 A L7 1—-28-10
7N - 19[ik = 19| KR T K X R — HLL 2652 156, 000 155, 000 0.6|WH—HL18—6

* 5K - 20[¥FK = 20 |H B I K K AT 457 130, 000 130, 000 0.0|ERAT8 —1 7
7N - 2103k - 21| KR T K KA 18422 180, 000 178, 000 LiAm12-24
1K - 220K - 22| T K D B T S KRR 1390794 85, 500 86, 500 A 12
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RN Al A7

TR TR VE M 7 75 FHE « i /Aﬁﬁ%ﬁ% /A%Sf}m% Q’%? EmFER (R 5)
(FM/nf) (F3/nf) (%)
K - 233k 23 | ] TH 5 7K XA T IT 40472 53, 100 55,000 | A 3.5/KERVHEET 1 2 — 4
bEVN - 24k 24| B W T K KT Br AT 55058 90, 900 92,000 | A L2|TFHi}HT8 —35
1K - 25[iK 25 | B T K DT AR 52 110476 19 98, 000 99, 200 A 12
E7N - 26iKk 26| K T 7K KR SR 1247728 84, 000 85, 300 A 15
RN - 2T|iEK 27 | T /K XA ) T 430712 89, 900 91, 000 A 1 2/FA)IHIT2 —4 3
K - 28]ifk 28 i) T 7K X3 B 1032 44, 900 46, 900 A 4.3
RN - 290K 29| B A TG K X )1 R R i 121387 103, 000 103, 000 0.0
7N - 30[ik 30| Kl T K X 1= WT 1847 %16 101, 000 102, 000 A 1.0/ /T4 —-35
1K - 31[iEK S1{E AT K LS 2 AR 2107894+ 86, 400 87, 400 ALl
7N 5 - 1[Itk 5 L| e ] T 9 7K BT T 497 160, 000 162, 000 A 1 2(TTROHT 3 — 9
1K 5 - 2Kk 5 2| B T KX LY B2 T H 406854 133, 000 132, 000 0.8 LYHE2—6—16
FEVIN 5 - 3|k 5 3\l T K X G H R T3 1325344 108, 000 107, 000 0.9
1K 5 - 4l FA TG K XA RLET1807% 1 133, 000 - —|HRET1 -3
* 7K 5 - 5[k 5 5| i T K X7 T2 T H 123 129, 000 129, 000 0.0[/5fHT2—10—22
1K 5 - B[k 5 6| ] T /K X pi L oJb B oA 4677 68, 000 69, 400 A 20
7N 5 - Tl 5 7| T K KN E T61675 35k 116, 000 118, 000 A L7/NERTL —6
RN 5 - 8[IHAK 5 8| #li] T 97 7K DX B P T g {02267 7 76, 700 78, 500 A 23
7N 5 - 9fifk 5 9 | ] T AR XA RE3 T H 1566754+ 62, 000 63, 000 A 163 —5—18
1K 9 - 1[Ik 9 L ERRA A XA B R TR 489 % 58, 000 58, 000 0.0
RETiN 9 - 20K 9 2| T K K O HIRT 10174k 80, 800 80, 800 0.0
1K 9 - 3[ifKk 9 3| ] TH i 7 DR T =5 R 142720 95, 000 96, 000 A 10
RETiN 9 - AfifK 9 4| Rl T K X PERT2 T H 3763 4k 58, 000 58, 300 A 0.5T2—-9—-10
1K 9 - 5[k 9 5 | i] T /K X Bl T S Rl 1072 49, 200 49, 800 A 12
A - 1| LT i Ao T 5 1 36 2 6 51 74, 500 74, 000 0.7
it - 2lEAAH QAR T P X ISIT2 T H 1353715344 95, 400 95, 000 0.4|MT2—-35—-37
A - 3|t 3|t it P XA BT A 39367410 59, 600 59, 600 0.0
izt A 4R XA A4 T H 3153701 74, 400 73, 800 0.8/fn5dk4—29—7
AR - B|EERE BRI &3 T AT173514 102, 000 - —|EF3—-23-28
R - 6T 6 [{E kA T X |1 FFHT 48997565+ 166, 000 161, 000 3. 1|IIFAT3 7 —3
AR - T|AAH 7 A T P AT AL 1763 84, 900 84, 000 11
izt - 8| 8l eAA T P IXIAR2T H 787209 147, 000 143, 000 2.8|[kiR2—43—32
A - 9|EfaTh oA T Y MR IE2 T H 1966631 136, 000 133,000 2.3 2—-13—-18
izt - 10 10| 17 Hh DR R IT 5145296 175 30 90, 300 90, 000 0.3
R = 1A LI T X2 P65 T H 2787547 76, 500 76, 200 0.4[%755—-20—40
izt - 12 12| XAE# 1T A 768% 24 106, 000 104, 000 LOfEH1—-15—7
AR - I3|EAATh I3[R T P X Fk 2 T H 11132563 79, 400 78, 200 L5#HmE2—-43—-10
izt - 14| L4 AR T PR R 5 T H 1113514 104, 000 103, 000 Lo s—11—4
R - 15| 15|t 7 v X IR T 3487584 87, 500 87, 200 0.3[HRET2 — 16
izt - 16|EfAH 16| A T v X BT SR T 7 130741 83, 000 82, 500 0.6
* JEAAT - 17| 17| AR T X322 T H 294715 87, 000 85, 300 2.002-37-10
izt - 18|EAAH 18|k Tt X B {E T 6667 1 106, 000 104, 000 L9BhfEmT41-37
R - 19|EAAH 19| IFAA T MBI T4 T H 20577 88, 500 87, 900 0.7|MiL4—34—16
izt - 20|#EfAH 20 ({5 T X EEAL SR IT R S IRF 5927 80, 300 80, 000 0.4
R - 21|EAAH 21 (IR P X527 H 109545+ 130, 000 129, 000 0.8k H2—9—5
izt - 22fEAA 22 (RT3 T H 6537 79, 700 79, 700 003 —11—9
R - 23|EAAH 23 [{EAATH P X R HIT 1222756 90, 500 90, 500 0.0
izt - 24|iEAA 24[IERATT P X 1T H 1087594+ 295, 000 282, 000 46|11 —8—-27
AR - 25|Aah 25T P X A2 T H 152%1 89, 800 89, 500 0.31fiff2—2—-25
izt - 26|EfAH 26 [IARTH P X AR3 T H 65721 76, 000 75, 500 0.75£3—-2-18
R - 27| EAA 27 [IERATH P XM R2 T H 620%2 91, 000 90, 000 L1[fEEE2—21—-12
izt - 28|iEAA 28[IERA TP X B IE3 T H 107576 89, 700 89, 300 0.4|HfE3—24—4
AR - 29|AATh 29[IEAATH P X 324 T 515224 81, 400 80, 000 1.8]#E4—-24—9
i L B U Pl v R 1|k i o PSR R IT 3207 184 655, 000 635, 000 3.1
w5 - 2l 5 2|IRATH P XU T H 106%8 111, 000 109, 000 1.8[iEEE1 — 6 —6
WEAAH 5 - 3|iEAAT 5 3| P XA (LIBT 3402 10 130, 000 128, 000 1.6
OO0 —%%5) L
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RN Al A7

TR TR VE M 7 75 FHE « i /AH‘E%&% /A%Bf}m% Q’%? EmFER (R 5)
(FM/nf) (F3/nf) (%)

* R 5 - 4| AR P R ET 10275 1354 262, 000 257, 000 .9
w5 - 5liEkf 5| eRa T P X T 2162519 208, 000 207, 000 0.5
HEkAH 5 - 6|IEkAH 6| eAA T P IXESIT1 T H 183371 114, 000 113, 000 0.9/MT1—-10—3
w5 - Tk 7| Bepr i P ORHE2 T H 1174716 106, 000 105, 000 LO|gfg2 —6—7
kA 5 - 8|UEkAH 8| ehA T P X EH5 T A 101864 69, 000 68, 700 0.4|HEHR5—1—26
AR 5 - 9liEAAH 9|k P X LT 2217 11 164, 000 160, 000 2.5
HEkAH 5~ 10[HEkAH 10| Tt X ey 327 1 138, 000 135, 000 2.2
WARH 5 - 11|k 11| edath s XAEHEL T F 9357 4 97, 400 96, 800 0.6/l —24—2
kAT 5 - 12[fEkA 12|k T o DR IT 52 10T H 1257244 110, 000 109, 000 0.9
WARH 5 - 13|HEAA 13 [ A T P XRD (LT 3537 341 259, 000 254, 000 2.0
kAT 5 - 14[iEkA 14| T o DS R T 5 E PE 214752 94, 100 93, 100 L1
WARH 5~ 15[HEAAT 15| ek v X AR A= M7 2887 3 93, 300 93, 200 0. 1|FA4HT1 5 —5
kAt 5~ 16|HEkAH 16|t XAE#3T A 1645 740 106, 000 105, 000 LOoffEEHE3—-12-31
WARH 5 - 17|HEAA T 17|k i b X R L2 T F 872 96, 000 95, 100 0.9fnti2 —8—17
kAt 5 - 18[UEAAH 18| VAR T Hh (XA | LIRT 325 7841 444, 000 435, 000 2.1
WARH 5~ 19[HEAA 19| AR T o X FHIT231 %4 157, 000 153, 000 2.6
kAT 5 - 20[HEkAH 20 (AT P X R ET 3027 165+ 132, 000 128, 000 3.1
WARH 5 - 21|IEAA 21 [IEAAT P XA = AT308 %4 131, 000 125, 000 4.8
kAT 5 - 22(fEkA 22[IERAT P X LT H 3372 99, 500 98, 700 0.8/%1—-4—19
AR 5 - 23|HEAarh 23| HeAn T X R a3 T H 15258 90, 800 90, 300 0.6|mEE3—52—21
A 5 - 24|fEkA 24 [IERAT P X3 T H 5057 1 108, 000 107, 000 0.9|fcf3—-7—6
AR 5 - 25|EARH 25| WEAA T X i) 1 RT 2075 1 109, 000 108, 000 0.9 FHIIET2 0 — 4
WEkAH 5 - 26|UEkAH 26 (IR TP XL FET L R 94752 108, 000 105, 000 2.9
AR 5 - 27|iEAA 27| AR T P K F A2 T H 4417351 83, 000 83, 000 0.0[AfF2—23—12
WEAAH 9 - 1|k AT o X T F 109751844 63, 000 63, 000 0.0 EH1—-9-37
w9 - 2k 2| T P X AR T SR 6 0% S 47, 800 47, 800 0.0
WEkAH 9 - 3|uEkA B|AA T P X P4 T A 10773 54, 000 52, 600 27| R4 —T7—19
AR T =AY LR R KA EH3T H603% 14 84, 700 84, 200 0.6/ fEH3—-6—5

s RN - 2UEAE 2| AR T MK L PEIT )1 2678 95, 100 94, 800 0.3
AR - 3[R 3|IARTH X [ ST A8 HT 986 46,100 46, 100 0.0
TR - AR A IRARTH R X R HE) | T 578847 80, 100 79, 400 0.9
TR - B|EEiRIR 5| A T R X T B HT 45 250142275 72,900 72, 100 11
AR T A 6 [JE R T SRR & YT T R RiT952% 85, 400 85, 000 0.5
TR - T|EERRIR 7|k i R X AL B HT A 396 % 1 71, 400 71, 000 0.6
AR T - 8|EAH |IEHA T R PCRFEERT = — T H 24717 98, 700 97, 800 0.9
AR - fARIR 9 [IEAR T IR KT 9072 88, 500 88, 000 0.6
AR T - 10|HEAH 10{ kA T UK A7 TS ] 102572 66, 000 65, 900 0.2
AR - 11| IR 11 P AATH AR AR 52 0 3 318152 1 57,700 57, 500 0.3
AR - 12| 12| T B/ NI TR 1603 8 146 77, 700 77, 000 0.9
AR - 13|IRARIR 13| T A TR RT 531 T 195388 3 66, 700 66, 700 0.0
AR - 4|IERAE 14| T3 e TSR 2475 2 82, 900 81, 500 L7
WERAH 5 - 1[I LHEAA X R A BT 52 2 9877 144 78, 000 77, 600 0.5
TEAAH 5 - 2[IEARH 2[R TR EALRT 0T [ 174625 154 85, 000 85, 000 0.0
WAH 9 - 1|UEAAE LT T SBT3 e RT 4382 1 49, 200 49,200 0. 0|V chT 1 6 — 2
TR 9 - 2[IEARH 2R T MR FET A AT 3357 1 58, 000 57,900 0.2
b yii) - 1A 1| T P4 DX ARMT 587 L >Rl 42047 144 42, 800 44, 800 A 4.5
AR TE - 2|mEARp 2R T 7Y AR ST < LA 1794752 43,100 43, 500 A 0.9
Y - 3|ARTE 3| WA TH P4 AT 7745 38547 241 27, 000 27,800 | A 2.9
AR TE - A\ AR T XN EFET A1 5 L 16416595+ 90, 100 89, 000 L2
b Y] - b|EfATE SIIEARHTE KK T4 T H 110714 120, 000 118, 000 L7KFEHR4—-10-23
AR TE - 6|EAA 6|5 7 75 X ZEF T 42 F 164724 37, 300 38, 000 A 1.8
Y - T|EARTE 7| T G XA BT S B - 1672 33, 500 35,500 | A 5.6
AR TE - 8T 8| AATH P X AR 1 T F 118718 69, 400 67, 000 3.6|/s1—18—-27
Y - AR 9| T Y X RERE T A1 S5 5497 3 4 56, 400 55, 800 11
TR - 10|HEAR T LO|FATH P8 X FRHINT 57 F .2 4314947 30, 900 31,900 A3l
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RN Al A7

TR TR VE M 7 75 FHE « i /Aﬁﬁ%ﬁ% /A%Sf}m% ;(EJ%;; EmFER (R 5)
(FM/nf) (F3/nf) (%)

TR - LA LA T PG DX 2 AR T 5 34421 9% 37,000 37,000 0.0
iy - 12(EAATE 12| WA T P8 DI RO 5 43 1169543 47, 300 47,600 | A 0.6
TR - 13|EAR T 13T 1 P8 X E T 240 L4 FH600 75 158 57, 600 57, 300 0.5
WARTE 5 - 1|IEAATE 1| s i 74 XN BT 52 J2 i 726 % 351 109, 000 108, 000 0.9
ERATE 5 - 2imAATE 2 [{EAA T 7Y BXCHE (L SFRT 203 1759 53, 100 53, 400 A 0.6
WARTE 5 - 3|IEAATY BHEAR T E K G 27T F 10117585+ 106, 000 105, 000 LojE#E2—-11—8
AP 9 - 1|IEAATE AT P R ALRIT 13497 10 32,700 32, 400 0.9
AR - 1|EARE 1| ek i X EEPE ST 5 =1 H 330721 79, 400 80,000 | A 0.8
TERARE A=A 2 T A T P X PN A 798 4 74,100 74,300 | A 0.3
AR - 3|AnE 3| WA T P X ST 42 31210738 53, 300 54,000 | A 1.3
TERARE - A|EARRE AT TR X BT 5 ) 136 197 66, 100 66, 500 A 0.6
AR - B|EiAR 5| A T R X AR HT - 45 /5 1359784+ 77, 200 78,000 | A 1.0
TERARE - 6|IEAE 6 | I A TH P X A ARAT6 707 1 67, 500 68, 500 A 15
IR - T|EEAAE 7| RA TR X E R IT 1812 1 69, 700 69, 300 0.6
TERARE - 8|UEAAE B|IAATH R X BFIT 23 #2967 71, 500 72, 100 A 0.8
WARM 5 - 1[I LA T g X = S AT\ 88 15+ 72, 800 74, 000 A 1.6
kAR 5 - 2|UEAAEE 2 [T A T P X R ARAT 8 89, 000 89, 000 0.0
ERAF 5 - 3|iEAARE 3| WA T P X EARE SFRT = T H 3323 1941 77,000 79,000 | A 2.5
WA 9 - 1|IEAAEE LA T X e £ T 1788 26 51 36, 500 36, 500 0.0
el - 1jERde 1|k AL K P AE T 13363 81, 600 80, 600 1.2
iz el - 2k 2 (AR T AL AR T A ] 44 SF-83 7 1 36, 400 36, 400 0.0
el - 3| BHEAR HTAL K BT & H5 7 AU 5102976 44, 100 44, 100 0.0
iz el - 4pERdE AR T AL KR TR 508 5 1 58538 241 37,900 40, 100 A 55
AL - b|Eiadt 5B AR T AL X5 | e BT H- 455 255079 41, 400 41, 000 1.0
iz el - 6|mRde 6L = AMT = 4 B RIS 78 %54 39,900 40, 600 A L7
el - TR 7| AL TR 2T H 103%10 65, 900 65, 500 0.6[FT#FH 2 —3—6
iR el - 8| BlIEMATHALIX = B ETHBHLGHT 215476 27, 400 27,900 A 1.8
el - 9L O (A AL BARVLIT o) 172 1 AfR491 19 144 35, 400 35, 400 0.0
iR el - 10[ERdE 10| 4 T b DS TS HT 801775 6 46, 500 46, 000 L1
S - e L AR T ALK = 05 JFNT 14947%:3 58, 300 57,900 0.7
iR el - 12(ERde 12| B PRI T IT o 1 5 AR B ST 17271520 40, 300 39, 900 1.0
el - 13| 13| AR T AL DK 5 MR 2 5 S M RR AiT8 755 23, 800 24,700 A 3.6
wEade 9 - 1jmkade LR AR BT AT H 104383 32, 800 31,900 2.8 F#lH 4 —4—3
US| A 1kr ALK P 4 710%6 68, 100 67, 500 0.9

* gkiEd - 2wk 2[R T AL XA 4 1 73 78, 000 77, 500 0.6
US| A 3|ieka T L X T KT 1859 59, 300 59, 000 0.5
wiEle - 4B AT T AL KRR 7)1 1384 72 73, 700 73, 100 0.8
NN = 5|fa b X Yu 4 T H 6% 13 69, 100 68, 500 0.9%htH54—-6—-25
wiEle - 6|EmEdL 6| eAA T AL PR B 3 T 19827 244 47, 300 47, 500 A 0.4
U A 7| Bt it e AL X R3S B 13247241 47, 300 47, 500 A 0.4
wiele - 8|EkidL 8|iEhA e b X 114833 42, 600 43, 000 A 0.9
vl 5 - 1|kt 1k AL AR & 164% 1 83, 300 82, 400 L1
WL 5 - 2|Eaid 2[{E A T b X AT ) 1 1037 1354 91, 100 90, 700 0.4
WAL 5 - 3| imiEdL 3{EAR T AL K M T 713635 1394 57, 800 58, 400 A 1.0
WL 9 - 1B Lk T A D P S TT76 555 28, 200 28, 000 0.7
WARE - 1|EREE A T R FE X AR (25 Fn 1 19857 4 42, 500 44, 000 A 3.4
EMRE - 2|ERAE 2[R TR HE DX LB L 1755425472 38, 500 40, 000 A 3.8
WARE - 3|ERKE 3| TR DX A A < 2520720 24, 400 25, 500 A 4.3
EMRE 5 - 1|ERAE AT R X R —{RTR T 14907 46, 000 47, 600 A 3.4
bet=es - 1| LA R IR 390%8 98, 900 98, 900 0.0

* Y - 2 2T =G B/ 34776 137, 000 137, 000 0.0
i - 3 3|HEETH A ALRT LT H857%5 121, 000 122, 000 A 0.8/FdcmMT1 —8 —4
HH - AR 4| E TR 5k SR 3174789 95, 500 96, 100 A 0.6
bet=es - 5| 5| AT ABHT 40273 112, 000 113,000 | A 0.9|AHEHI 1 2 —2 4
W - 6| 6 |VRHE T LI YR 1126752 81, 600 83, 400 A 22

A UE HF 2
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(OO0 5 —&¥5]

OO 9 —3F#) - T¥H -5~ * FNT AL & o Ham iR & R,



RN Al A7

TR TR VE M 7 75 FHE « i /Aﬁﬁ%ﬁ% /A%Bf}ﬁ% E%? EmFER (R 5)
(FM/nf) (F3/nf) (%)
i - TR - TR 51956 7 30 116, 000 116, 000 0.0
betees - 8| - S|VRHEEHTEARET2 T H 1074 73, 100 75,300 | A 2.9
B - 9| - 9 M A E IR 148676 71, 800 73,700 A 26
prebe3 - 10[WH - 10[7AHEE TR S F502%12 99, 200 100, 000 A 0.8
bahe 3 - 1| - LT R E6597 28 58, 700 60, 100 A 23
frates - 120 - 12|VBEE T A E T A2225% 450 62, 800 64,600 | A 2.8
i - 13| - 13[AET LS 6L 76, 800 77,700 A 12
prebe3 - 14 = 14|\ E T R T U R 1327374 94, 800 94, 800 0.0
i - 15[ - LB|VAHETH R T R E I 1897 1 78, 800 80, 100 A 1.6
frates - 18| - 16|VBHE AHERS T R 1733720 82, 200 82,800 | A 0.7
i - 17| - 17 b S ET 18507 20 130, 000 130, 000 0.0t By 3 — 7
brate - 18| - ISR ATHERS AR 2937 1 82, 800 82, 000 1.0
i - 19 - 19[AEETRR SR Fid227 44k 70, 700 71,700 A 1.4
B - 20|iEREE - 20| VA E SR AR996 7 12 106, 000 106, 000 0.0 (MEdb1 34X 1 1)
i - 21| - 21| P EETE 5525723 77, 400 78, 600 A 15
frates - 22\E - 22|VBEETT IR AIT84F 150 37, 200 38,000 | A 2.1
S - 23| - 23Rk 5320 106, 000 107, 000 A 0.9
bt s - 24| - 24|VRHEEHTHTIR T 174356 109, 000 111,000 | A 1. 8|#RHIT14—6
i - 257 - 25 R A 22427 16 108, 000 108, 000 0.0
brate - 26| - 26AHE P #2397 18 32, 100 34,000 | A 5.6
i - 27|V - 27|VRMETH B REG 245 % 341 62, 900 64, 700 A 238
i - 28| - 28[iAE T/ NG / BF156 % T4k 85, 300 87,000 | A 2.0
i - 20| - 29|V T ROHE RS S N B 159 100 75, 000 76, 000 A 13
brate - 30| - 30|vHHEET T S HT97972 87, 700 89,200 | A L7|PHjHT3 —3
* JAHE 5 - 1 5 - 1|{HEATIRFETS T HETE4 297, 000 300, 000 A 1LOKFIT5—2—-3
i 5 - 2iHE 5 - 2|{Hl L5 % 208, 000 210, 000 A 1.0
i 5 - 3w 5 - 3|HHTR TR 124 114, 000 116, 000 A L7
T 5 - A 5 - AlHEETATE T R4197F 144 129, 000 130,000 | A 0.8 (FHFLX1 2)
i 5 - 5l 5 - b5|EHEE T3S 226, 000 228, 000 A 0.9FEBAT3—7
bet=es 5 - 6| 5 = 6|HHTTIESRATI59% 153, 000 155,000 | A 1.3
W 5 - TEHEE 5 - T|VRHEETAESRET6 %2 160, 000 161,000 | A 0.6|FEHAT6 — 2
bet=es 5 - 8| 5 - 8|HHITHSNT 11525 124, 000 126,000 | A L6511 —20
i 5 - ol 5 - 9|HHATEET 3T H 13722 85, 900 87,900 A 23
i 5 - 10[#H 5 = 10|/HEHIAN 27 147, 000 149, 000 A 1.3
i 5 - 11| 5 - L1|HETTRFIT2T HI%ES 175, 000 177,000 A LIKFIT2—-9-3
i 5 - 12#HE 5 = 12|{HHT IR 255%3 133, 000 134, 000 A 0. 7RI 12— 18
i 9 - 1w 9 - 1|iEHd RS TR 1-396F T 43, 000 42, 200 L9
i 9 - 2iHE 9 - 2|HHTTIRRYI T\ K 56152 51, 500 51, 300 0.4
it - 1B - 1B B ET837E26 95, 300 94, 400 LOFAM 1 1—13
* B - 2B - 2|EMETHTRANT 16017 1854 65, 400 66,200 | A L2#HT5—23
it - 3|EMfE - 3|BNMETTIEANEET2 T H 18007155 26, 100 26, 500 A L5|FEAYEIT2 —2—11
x B 5 - 1|2 5 = 1|B\ETTEERT357 %S 154, 000 145, 000 6. 2|FYEHT 5 — 9
it 5 - 2| 5 - 2B AT 1368641 100, 000 100, 000 0.0|FnHEEREAT2 — 1 9
=5 - 1=ER - 1| E R 3TTEL 93, 300 93, 300 0.0
=5 - 2=E - 2| =RETHTINE50%6 102, 000 102, 000 0.0
=5 - 31=ZB - 3| EETEEAIT H10%EIS 81, 200 83,400 | A 2.6
=5 = - 4| =R 128%S5250 96, 300 96, 300 0.0
* =k - 5=R - 5| = REET2 T H3547%2 160, 000 158, 000 L3 KR 2—-13-15
= - 6=E - 6| =R T 136756 103, 000 103, 000 0.0
= - =R - 7| EETTNERT39%510 144, 000 143, 000 0. 7|MEHT9 — 2 0
= - 8= - 8| =RETTREE NI F24473 98, 400 98, 400 0.0
=5 - 9=R - 9| =R T H 149788 115, 000 114, 000 0.9|fiff2—19—-48
= - 10| = - 10| =4 57075 80, 700 81, 000 A 0.4
=5 - 11EE - 1| EETTERT R L3997 1 29, 500 29, 900 A 1.3
=5 - 12|25 - 2|EEWELEE LY 215828 89, 000 89,800 | A 0.9|HElrlLvyY23—8
A UE HF 2
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RN Al A7

TR TR VE M 7 75 FHE « i /Aﬁgﬁ% /A%Bf}m% 2%%? EmFER (R 5)
(FM/nf) (F3/nf) (%)
= - B|=EE 13| =R B 8Es 85, 400 85, 800 A 0.5
=5 - =R 14| = B HERT 8212 115, 000 113, 000 1.8
* 2 5-  1|=E 1 =5 — A HT27008 654 314, 000 310, 000 L3 —&HMT15—21
=t 5- 2=k 2| =TSO T H 2739%1 254, 000 252, 000 0.8|3C¥#MT 1 —5—6
=5 5-  3|=8 3| =R EA2T9E TS 111, 000 112,000 | A 0.9
=t 5 - 45R A =R TR 1613751 177,000 176, 000 0.6[ZAN1—40
= 5 - 5=k 5| = By iR MT 220431 157, 000 156, 000 0.6[%HT1 —30
=5 5 - 6=k 6| = il Ar906%1 124, 000 124, 000 0.0
= 9 - 1= =B MR R155%28 46, 900 46, 600 0.6
B - lEEE 1| e A 1 462735 39, 800 40, 100 A 0.7
[CERCY - 2|EEE 2|8 HE ARG R 2608567 24, 800 25, 200 A 1.6
HhE - 3EtE 3|& LE B A RN 695 38, 200 38,500 | A 0.8
[CERCY - 4 ELE 4|8 L E i AERT 2048724 57, 600 58, 000 A 0.7JEET13—16
w - 5|EEE 5|8 LE A O 81275 63, 000 63, 500 A 0.8
[CERCY - 6|EEE 6|5 HE L IT1519% 144 59, 300 59, 800 A 0.8¢FT10—13
BELE - TEEE 7\ e iR BT 1028354 61, 000 61, 800 A 1.3
EHEE - 8lEEE 8| L E /N RAT3 1 12 61, 500 61,700 | A 0.3
ELE - 9EEE 9|8 LB TR AR AR 320 1 11, 800 11,900 A 0.8
[CERCY - 10|EEE 10| & LB i iy Hh 5 4K 10337 10 41, 800 42, 400 A 1.4
e - l|EEE 11| & i/ a 1936 B 554 50, 200 50, 600 A 0.8
HhE - 12|EkE 12| L E A AT F)IF218%1 37, 200 37,600 | A 1.1
BELE - 13|E 13| L AT E R 759K 641 57, 600 58, 100 A 0.9ERT19-16
[CERCY - 4|ELE & E I RA TR 42815 42,100 42, 300 A 0.5
e - 15|EEE 15| & - T T = IR940% 585 17, 300 17, 500 A1l
[CERCY - 16|EEE 16| 5 75 B JRURT F SRR T B3 1413827 47,000 47,100 A 0.2
HhE - 1T7|E 17|58 e HERl T AT 5897 22 47, 500 48,000 | A 1.0
[CERCY - I8|EEE 18|& B /MR T 1221 72 43,900 44, 200 A 0.7
BELE - 19|E 198 B iz LT/ 71072954 34, 100 34, 700 A 17
[CERCY - 20|EEE 20| & LE T RETN 2 71107540 43,900 44, 200 A 0.7
e - 2l|EEE 21| 8 B T 2 K R 1280785k 5,200 5, 300 A 19
[CERCY - 22|EEE 22| & HE T LI 1868 722 12, 500 12, 700 A 1.6
BELE - 23|k 23|82 S F 509532 24, 500 24, 900 A 1.6
[CERCY - 4|EEE 24| & EE AL ISR TR 1113 L 21, 000 21, 500 A 23
e - 25|EEE 25| 8 L AT T RKEE860%4 19, 900 20, 000 A 0.5
e - 26| hE 26|& L TEE SFRT T 1R 14 58, 500 58, 800 A 0.5
e - 27|EEE 27| e iR P R M 117273 37,900 38, 500 A 1.6
[CERCY - 28|EEE 288 L TR IR 48178 36, 200 36, 600 ALl
wrE 5 - 1EtE 1| ' T 1127566 70, 000 71, 000 A 1L 4[HHT22—12
* wihE 5 - 2|EbE 2| LR R i 150 7 54k 91, 000 92, 000 A 1 1{HRET4 —9
wrtE 5 - 3lEtE 3| e RHT 12067 1 73, 100 73, 800 A 0.9[%HT 9 —2
EhE 5 - 4ELE 4|8 L EPERT5 78 T4 60, 300 61, 000 A 1 1|FERT25—3
WhE 5 - B|EtwE 5|5 e 3155164+ 71, 000 71, 000 0.0|= T4 — 7
whE o9 - 1EtbE LB " 5 B JEORT R 3680 75 13 30, 000 30, 000 0.0
wrEoo9 - olEtE 2|8 HE e R R2230 % 144 21, 200 21, 200 0.0
i - 1K LB e 22 197 174 61, 700 62, 300 A 10
s - 2|pk 2| G HTAA ST\ 6697 154+ 70, 100 70, 300 A 0.3
B - 3R 3| AT S H FfF L5077 15 31, 400 31,700 | A 0.9
s - 4| 4| G SRR 582% 3 47,100 47,100 0.0
i - 5|t 5|/F I RFS T A 127 59, 700 59,800 | A 0.2/KF3—10—12
B 5 - 1R LB iR 1 BT 480 % 435 92, 300 92,800 | A O.5[fJIET1—17
B 5 - 2|t 2| G 3ENT476 8204 73, 600 74,500 | A 1.2|3EMT4—13
g 5 - 3|k 3| AT 5627 82, 000 83,000 | A L2|HEHT8 — 2
* - 1|&H 1| 5 R T o SR BT 4753 79, 200 79, 200 0.0
B - 2lBm 2| M2 T H7316%11 62, 500 62, 500 0.0/flE2—18—22
5 H - 3|&H 3| H T A A AR AT 17475 39 37, 500 38, 100 A 1.6
OO0 —%%5) L
[OO05 —&F5) i
[O09 —&H5) - LM -7 - sk FIXHUAM A & o i@ S A2 7R T,



RN Al A7

TR TR VE M 7 75 FHE « i /A\ﬁﬁ?ﬁ% /Af?gf}ﬁ% 2%%? EmFER (R 5)
(FM/nf) (F3/nf) (%)
5 H - A|BH 4|5 TR 136 14+ 57, 800 58,400 | A 1.0
51| - 5|Em 5|/ H T AGR 2 T H 3673217 54, 800 55,200 | A 0.7|fEf2—17—52
5 H - 6|&H 6|/ H T 4v SR AT 112378 44,700 45,400 | A 1.5
51| - 7B 7| J T R LB VE 60225 34, 200 34,600 | A 1.2
5 H 5 - 1MW 1| & B AT 1315 112, 000 113,000 | A 0.9
B 5 - 2l 2| HfRIHT 12716 81, 600 81,800 | A 0.2
5 H 5 - 3|kMm 3| T PRI 113 69, 300 69,400 | A 0.1
51| 5 - 4l A TR B TF1993% 240 50, 800 52, 400 A3l
"t - 1lEt 1|& i SnT69 % 4t 92, 500 92,600 | A 0.1|fEHITS —2 1
Bt - 2@k 2|8 LR ET G 112428 154 63, 300 63, 500 A 0.3
"t - 3lEt 3|8 Lk 164313 54, 600 54,900 | A 0.5
wt - A|EE 4|5 R R A 11727512 54, 000 54, 400 A 0.7
* Bl - 5lEt 5|8 L EAML T H21113584+ 72, 800 73,000 | A 0.3|EHAHE1I-7-5
Bt - 6lEE 6| Ltk = UG 502510 39, 100 39, 600 A 1.3
Bt - T|EE 7| & LA R AET5007 14 61, 500 62,600 | A 18|JKRAN16—7
wt - 8|E* 8| it FH A 34884} 63, 600 63, 900 A 0.5
"t - 9lEt 9| TRk 1122137 167 26, 300 26,600 | A 1.1
CES - 10|E+ 10| & it ssh / BF12907% 14 56, 700 57, 200 A 0.9
Bt - 1EE L& i B R R 172740 60, 400 61,000 | A 1.0
wt - 12|E* 12| TS VE i 51265+ 34, 700 35, 500 A 23
Bt - 13EE 13| Tl A BT B 5 R 145783 39, 300 40,500 | A 3.0
wt - 4|EE 14| & LT AR T K T584%5 64, 000 65, 000 A 15
Bt - 15|& & 15| & i AL O 3763 1 73, 200 73,600 | A 0.5
wt - 16|E+ 16| & i 4 SR 2 22625 7 66, 800 67, 200 A 0.6
"t - 1E+E 7|8 LR 5200 T )1 1676 5585 71, 600 71,900 | A 0.4
Bt - 18Ek 18| & R K 412155341 58, 300 58, 600 A 0.5
Bt - 19|&E & 19| & LA ARTE S 9% 66, 200 66,600 | A 0.6
wHt - 20|+ 20|58 4 R5 T H1025%8 70, 900 71,600 | A 1.O|AR5—-16—26
Bt - 21E 21| LA T A 56072 97, 600 97, 600 0.0/%1—-11—10
wt - 220E+ 228 EifRIET I 017648281 70, 900 71, 400 A 0.7
"t - 23E+E 23|58 401 P RT6283447 39, 300 40,400 | A 2.7|8JI[HET1 2 —5
wt - 24|E+ 24| 8 LR F 1T H26%7 85, 300 85, 700 A 0.5kFH1—3—9
Bt - 25|F & 25| &t AR I ST 478 %84 72, 800 73,100 | A 0.4
wt - 26|®+ 26| & LifiE T BETF91E TSN 62, 500 63, 900 A 22
Bt - 27E 27| & LA L e 636734 57,100 57,600 | A 0.9
wt - 28|E+ 28|& LR A T 12468744 65, 800 66, 100 A 0.5
Bt 29|+ 29| LT R _ERT2896%36 89, 700 90,100 | A 0.4[HR AT 8 —4
wt - 30|®+ 30| i AL A 86653 42, 700 43, 200 A 1.2
Bt 31w+ 31| LE L RATT He&18 56, 200 57,600 | A 2.4
Bt - 32t 32| & Ll 2 R N 267 4% 135+ 44, 900 46, 300 A 3.0
Bt 33|/ & 33| il R R 731730 52, 600 53,400 | A 1.5
Bt - 3EE 34|E bl L R PSP B 1695 116 44, 400 45, 700 A 2.8
Bt 351+ 35| & AT S L b HT 44710 96, 800 96, 800 0.0
Bt - 36|Et 36| & L & O F28%40 80, 300 80, 600 A 0.4
"t 378+ 37| & AR / 1947 1841+ 63, 700 64,900 | A 1.8
Bt - 38Ek 38| it 5 i 142374 48, 500 49, 000 A 10
Bt 39|85+ 39| LR F N E660ET 68, 400 68,700 | A 0.4
wt 5-  1Et 1| & iR gemr 1T H 311324+ 89, 300 89,700 | A 0.4|PHHT1 —6—6
Bt 5 2@+ 2|8 EH LT H80&244 77,800 78,600 | A 1.0|EF1-—2—-9
Bt 5 - 3|mt 3| LA A e 332 98, 100 98, 600 A 0.5KFRBTI3—16
Bt 5 4|5+ 4|8 T HERT 306 4 136, 000 137,000 | A 0.7
wt 5 - 5lEt 5|8 titiE B Z 6111 62, 200 62, 700 A 0.8
Bt 5 6|% + 6| & LA RETI T A 217 140 102, 000 102, 000 0.0[HRAT1—10—19
* Wt 5 - TE+t 7|8 L ART30% 11 96, 300 96, 400 A0 1KETTO—17
Bt 5 8|+ 8| LT F3 T H 34807158 77, 000 77,400 | A 0.5|FHF3—-10—2
OO0 —%%5) L
(OO0 5 —&¥5]
[O09 —&H5) - LM -8 - sk FIXHUAM A & o i@ S A2 7R T,



RN Al A7

TR TR VE M 7 75 FHE « i /Aﬁﬁfﬁﬁ% /A%Bf}m% ;(EJ%;; EmFER (R 5)
(FM/nf) (F3/nf) (%)
Bt 5 - 9EtE: 5 - 9|H LHERTIE F 1631 66, 200 67, 100 A 13
CES 5 - 108+ 5 = 10| LiliEsEnT19% 88, 000 88, 400 A 0.5f15E0T10—-25
Bt 5 - 11|&+E 5 = L1|E i T F 12609 1 54, 800 56, 200 A 25
Wt 5 - 120Et 5 - 12|EtAIHEEIST H361% 101, 000 101, 000 0.0/f%I3—10—10
Bt 5 - 13|& & 5 — 13| i R ARy 14584k 64, 100 65, 000 A 1 A|JEMAET8 — 2 5
CES 9- 1Et 9 - 1|&LlIEEFE F103% 144 37, 400 37, 400 0.0
Bt 9 - 2lmt 9 - 2|E bW HEETEETI0NRS 33, 800 34, 000 A 0.6
Wt o9- 3Et  9-  3|EtdEmET2T H178% IS 43, 600 43,800 | A 0.5
Bt 9 - 4|EE 9 - 4| bR T LE T 259764k 37,100 37,100 0.0
CES 9 - 5lEt 9 - 5| iR H A NT3696%3 54, 100 54, 300 A 0 4EHAEBITT1—24
Bt 9 -  6|EmL 9 - 6|E iR I 320734 39, 300 39, 300 0.0
* Wt 9 - 1Bt 9 - 7|E bl E#2463% 1054 47, 000 46, 000 2.2
* A2 - 1|#EH - EEETERA R H2TE 16 84, 000 83, 400 0.7
BT - 2lEm - 2BET 2 ETEHNK1419% 1 57, 200 57, 400 A 0.3
2 - 3Em - BEET AR A15867%30 62, 000 61, 600 0.6
A - 4lEm - AT R 149476 51, 300 51,600 | A 0.6
| - 5/#mMm - SRS SR 8028354 53, 700 53,700 0.0
A - el#Em - 6|EmTRZIAA T B 12817 73, 800 73, 800 0.0
| - 7Em - T|EET R L1271 T 65, 300 65, 500 A 0.3
HEH - o8lEm - 8|4 ZIHLIT B 10%3 60, 600 60,700 | A 0.2
| - oM - UEETIE T RALR1941738 53, 400 53,400 0.0
A - lo/Em - 104 T E H RS 113515750 70, 400 70, 200 0.3
| - Em - LR E S 320572 19, 300 19, 800 A 25
A - 12)Em - 12T R R RB072%T 17, 200 17, 700 A 2.8
| - 13)Em - I3|EEETH AR R 1497 33, 200 33, 500 A 0.9
A - 4)Em - 14T E SRS 1465538 34, 700 35, 100 ALl
| - 15|%Em - 15T ERT 700274 25, 000 25, 800 A3l
A - 16[#EmW - 16| FAER A 12667105 70, 000 70, 000 0.0
| - 17|Em - 1T E T SE T 10787 1 55, 400 55, 700 A 0.5
A - 18|Em - 1BUEH IR FBEN F2016%6 57,100 57, 200 A 0.2
| - 19)Em - 19EEA T RARTFLIFAR607TH 15+ 32, 600 32, 800 A 0.6
B - 204 = 20 TTRNLEFE T O PFI9FE 154 27, 600 28, 200 A 2.1
| - 21|Em - 21 E R 418 % 34 20, 500 20, 800 A 1.4
HEH - 22|%MW - 22T RSN 1856 % 40, 100 40,300 | A 0.5
| - 23|%Em - 23[R S OR 1972733 77, 400 77,000 0. 5| G H22— 115X 10—4)
BT 5 - 1M 5 - 1|/EHET4S 23T H12%65 97, 400 97, 400 0.0
2 [ 5 - 28zm 5 - 2\REM LM AT 1051 154 58, 700 58, 700 0.0
A 5 - 3|Em 5 - 3@ RT)IH1363% 184k 65, 200 65,300 | A 0.2
| 5 - 4[EmMm 5 - 4|EEWT 212371 75, 400 75, 400 0.0
BT 9 - 1M 9 - 1|l BT REATEE L3350 14 28, 100 28, 000 0.4
| 9 - 2/EmMm 9 - 2mH LR BT HEIEFIL 23, 400 23, 500 A 0.4
A 9 - 3mEm 9 - 3|EHTE R E1205%5k 29, 100 29, 100 0.0
WEHE - 1|MEn - L BEE TR S BT F 139720 59, 900 60, 400 A 0.8
e - 2|pEEE - 2|BEMETBERA T 810 60, 300 61,500 | A 2.0[fEH4—8—16
WEHE - 3|MEnE - BUhEHTEY H2T A 542% 20, 600 21, 700 A5 1|EYA2—-8-26
piiRE S - A|bEE = A|BEEET =AM T T E T 21872 55, 000 55, 000 0.0
WEHE - b|kEHE - BBEHETTR)I SRS 2500% 31,900 32, 500 A 1.8
e - 6|pEE - 6|BEEEHTHU/NIST H 140633 44, 000 45,400 | A 3. 1[H/NI3—6—34
s JEHE - T|kEHE - T|BEHETTE/NI2T A4 10 64, 800 65, 600 A 12
PEHE - 8|BEAE - B|BEHT A AR 195 1454 29, 000 30,400 | A 4.6
WEHE - OMEnE - 9UBEETTRIA R R E25 1635 25 17, 100 17, 700 A 3.4
e - 10|BEHE = 10|BEAET = 0 4 EG3687 18 72, 600 72, 600 0.0
WEHE - 11|HERE - L1 BEEETNR T AR 1937 1 81, 300 81, 300 0.0
piiRE S - 12|BEHE - 12| BEETTRSEETL T H 6% 1281 63, 300 64, 200 A LA4RFEATL—6—-10
BEHE - 13| bEHE - I3\ BEHETIN 5N Sl 5 2888 7 24+ 51,000 52, 500 A 2.9 (FH5 41X 441)
A UE HF 2
OO0 —%%5) L
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[O09 —&H5) - LM -9 - sk FIXHUAM A & o i@ S A2 7R T,



RN Al A7

TR TR VE M 7 75 FHE « i L\H‘E?ﬁ% /AHH??E*% E%ﬁ EmFER (R 5)
(FM/nf) (F3/nf) (%)
WEHE - 14|HEnE 14| e SR U 1387%85 42,100 42, 200 A 0.2
e - 15|BEHE 15| BEHL T SOAR AT D H 411721 45, 600 46, 200 A 1.3
BEHE - 16|HExE 16| e T HhoT = KAl AL 1427 7 53, 600 53,400 0.4
PEHE - 17|BERE 17| e R LR 7544 32, 400 33,000 | A 1.8
WEHE 5 - 1|MEnE L BEHE T A R A i R 13038 4% 61,700 63, 300 A 2.5 (FH51 8 O#X 641)
e 5 - 2lhEHE 2| e HTERAL2 T F 11364 59, 200 61, 000 A3 OFd2-11-19
BEHE 5 - 3|hEH 3IBEHETE/INI13T H 173 74, 100 75, 600 A 20
PEHE 5 - ABEHE 4| BT A 15033441 81, 600 81, 600 0.0
WEHE 9 - 1|MEnE L BE T\ A4 T H 1181841 70, 700 71, 500 ALl
e 9 - 2lhEHE 2| BE R A i P S MR AR 2 7 26 25 6541 16, 700 17, 200 A 29
* )11 - LI LM R3T A517% 71, 800 71, 800 0.0
#h11 - 2B 2T RS T+ /R 2689 14+ 21, 600 22, 000 A 1.8
#1 - 3| 3[#ITHRE2T H 1083 80, 800 80, 800 0.0[ff2—8—14
#h11 - 4B A EIH > 2T H 12814 68, 600 68, 600 0.0
#1 - 5| 51T F AT/ #i2190749 42, 300 42, 500 A 0.5
#h11 - 6 6| 11717 5 R 5927 1 21, 800 22, 200 A 1.8
#1 - 7| 7B 78 R A 3252759 19, 400 20, 200 A 4.0
1l - 8lEIl 84117 LR B8 %S 49, 000 49, 000 0.0
#11 5 - 1[I LB T RTS8 76, 600 77,000 A 0.5
Il 5 - 2/ 2| B it k2 T H 559 112, 000 112, 000 0.0
#11 5 - 3[#JI 3 H T RAIT 243 62, 300 62, 400 A 0.2
1| 5 - 4l 4B TR = — B HT 1413255 23, 000 24,100 A 4.6
#1 9 - 1#EJI LB TR EE5 & A 23, 200 23, 200 0.0
353 - 1| LR AL )5 5 [ 227 %55 22, 300 23, 000 A 3.0
TR - 2|k 2|RREC T % F 1799 57, 600 58,600 | A L7|AFE19—18
ek - 3| 3|HERE A3 T H 651 104, 000 102, 000 2. 0[fiE3—6—20
253 - 4| 4| BT HERT 1T H 64751 71, 300 71, 200 0.1|F%Mr1—11-3
353 - 5|t 5 |FRRA T P T J 1) 2 461 7%:25 76, 000 76, 100 A 0.1
TR L 3 6 |BEEC T A3 T H 944776 67, 800 68, 400 A 093 —6—2
353 - 7| 7\REECH 2T H 11758 54, 400 54, 700 A 0.5\l 2—-2—4
TR - 8|k B|HEEC T 7E3T H464% 154 80, 100 79, 600 0.6|HH3—9—17
ek - 9| O | R T ST 37 %27 56, 000 56, 000 0.0
* - 10|k 10| RECT /A ITET2 T A 8187644 81, 500 81,400 0. 1/MEJIT2 —4 —2 3
353 - 1|k LL{ A T ] ST =85 5 KA 15052 10 43, 700 44,100 A 0.9
TR - 12|k 12| KSF3 T H6% 14 62, 000 61, 000 1.6
353 - 13|k 13| R BRI 52T H 14%5 80, 100 80, 500 A 0.5BRH2—-14—6
TR - 14| 14| RECTHERImT2 T H 1297 1244 55, 000 55, 300 A 0.5FPMT2—-9—-17
353 - 15|k 15| AL T R ERT 1T H 10057 54, 800 55, 400 A LL1|KEMT1—-9—4
TR - 16| 16| T ] ST P AR S HE 9T 75554 50, 300 50, 600 A 0.6
353 - 17|k 17| AL T 0 2 PN A 115322524 38,900 39, 000 A 0.3
TR - 18|k 18|k TR T2 T H 184%55+ 54,900 55, 500 A LLI[KF2-8-10
353 - 19|k LO|FEEASE Tl ] S0 T i 50 5 AR IR 1660213 35, 600 36, 900 A 3.5
2353 - 20|k 20| RT3 T A 7315 77, 800 77, 100 0.9|@M3—7—-30
353 5 - 1|k 1| R THBRA2 T A 7235 150, 000 145, 000 3. 4|BRi2—7—27
2353 5 - 2|k 2|BRECHARSF3T H 131 76, 700 76, 300 0.5
W 5 - 3| 3| AL/ NG BT LT H 72272 99, 000 99, 000 0.0/NEJIBTL —6—13
2353 5 - 4|k 4|ERE A2 T A 17854 157, 000 152, 000 3.3 2—1—4
353 9 - 1|k LR T A 52073 47, 800 47, 800 0.0/l —18—-21
* fHES R il e 1| A5 T BT 1) 1 152874 95, 200 95, 200 0.0
RS - 2|iEEy 2| HE 855 T G R PP A A3 03 7 74 67, 300 67, 200 0.1
il - 3| 3| B T AR KL 1657 9 76, 200 76, 100 0.1
B - A|EBS A\ T ) 1 5 e 238 720 68, 300 68, 200 0.1
il - 5|fHES 5| R T2 T H 6374+ 91, 000 91, 000 0.0 EHF2—-—6—11
RS - 6B 6 | T BT A 0 1) 96 4263 72, 900 72, 700 0.3
il - T|HBSS 7 BB 5 o7 R FH o S 75 Y 48279 68, 600 68, 600 0.0
(00 —#Fi5) EEH
005 —F#5) - H¥EH
009 =45 - TH¥MH - 10 - s BT P A & op Sesdt 2 & =4,



RN Al A7

TR TR VE M 7 75 FHE « i /Aﬁﬁ%ﬁ% /Af?gf}m% Q%? EmFER (R 5)
(FM/nf) (F3/nf) (%)
B - 8|S - 8|S LS FE61275 58, 400 58, 500 A 0.2
RS - 9B - 9| L FLRGEBA0 18 45, 500 45,600 | A 0.2
B e e - 10|fHES TS5 H 1353720 51,400 51, 500 A 0.2
B - LY - LB Ak £389%9 42, 200 42, 300 A 0.2
B - 125 - 12|fEBBE T AR AR 10069 53, 200 53, 300 A 0.2
RS 5 - 1|BBE 5 - 1B L M1980%11 119, 000 121,000 | A 1.7
RS 5 - 2\BSE 5 - 2SR T HRURS0TE 154 107, 000 107, 000 0.0
WS 5 - S|EES 5 - 3[R P 1T H 16871 146, 000 145, 000 0.7|mEP1—-18—-15
I - 1| - IEIFZEETIT H9ES 60, 000 59, 600 0.7
I - 218 - 2[R KETTE L9 47,900 48,800 | A 1.8
I - 3| - BEIEIESIMERS 11737 10 55,000 55, 000 0.0
K - 4|8 - AESEITR SR B8 % 14 17, 200 17, 500 A 1.7
I - 5|8 - SUEIRIMEILISIEE2391% 17 31, 500 31, 500 0.0
I - B8 - BB H2 T He&12 68, 300 67, 300 1.5
9 5 - 1F 5 - 1|IFERITIELL 87, 200 87,800 | A 0.7
K 5 - 2189F 5 - 2[AHTERT2 T H 1S 72, 300 72, 300 0.0
TH - 1Fm - 1 FTHEHETAT48% 50, 800 52,400 | A 3. 1ZTH14—11
TH - 2|FH - 2| FHmEP10%&12 59, 800 60,400 | A 1LO[EF10—12
| - 3| FH - 3| FHMHE G SFFEIR24TET 41, 600 42,100 A 12
T 5-  1|FH 5 - 1| FHTZT H647E 69, 100 70,500 | A 2.0 Z=TH11—19
TH 5 - 2[FM 5 - 2| FHHTEAMLLT HI%E2 63, 300 64, 300 A LOFEARL—9—2
HREF - 1R - LBRERF IS R RO 4% 4 102, 000 102, 000 0.0
ki - 2lHRE - 2mERT Y BT L11IET 95, 000 95, 000 0.0
HREF - 3|Ew - 3| HREFTA N AR 4067 165+ 87, 700 87, 800 A 0.1
ki - A|FRE - ABEEFTHERS Y & ) 943%T 99, 000 99, 000 0.0
HREF - 5|tRY - 5HREFTHIZ IS P L2693 115, 000 115, 000 0.0
ki - 6|¥RE - 6[HEEFITHEA 2T H9%E 10 40, 600 41, 500 A 22
it - 7| - THREFIE T T/ H63%9 78, 600 78,700 | A 0.1
ki - 8|¥nE - S|HEEF LT 26T T 24, 500 25, 000 A 20
HREF - 9|iRy = O|HREF A S AR TR 1T 40, 100 41, 400 A 3.1
ki - 10|¥nEF - 10\HREF A S TP ERA2T 14 66, 000 66, 900 A 13
HREF 5 - 1|#E%F 5 - 1|[#EEFTAAT B 543673 129, 000 129, 000 0.0
ki 9 - 1|¥EEF 9 - 1|#EEFH TR R T334 50, 500 50, 500 0.0
it 9 - 2fREF 9 - 2|tREFIS EEHIM34TE L8 35, 600 35, 600 0.0
v -1 - LTS5 113010% 48, 400 48, 500 A 0.2
LR i) - 2 - 2| RN 10408 144 70, 500 70, 500 0.0
v - 3| - 3[WIETHERMI2 T H 2803% 83, 100 82, 800 0.4/ 2—13—3
o - 4l - A|ETRE A4 T B 11168155 62, 400 62, 400 0.0/MiH4—7—-55
v - 57 - BT % E 336728 64, 700 64, 700 0.0
o - e[l - B|IVE HHTEHT T 2 AL 5106678 55, 100 55,300 | A 0.4
v - T - T TR TR R IR KA 17507 18 36, 100 36, 200 A 0.3
i) - 8|l - S| IHEET N ILFAR 423662579 47, 000 47, 300 A 0.6
v Rt - QUMEETH L A S R 567 16 47, 500 47, 600 A 0.2
b i - 10[#iE ~ 10|37V T I T 5957 3 40, 100 40,300 | A 0.5
i) 5 - 1[ibi 5 = 1|IE T 53347 88, 200 88, 200 0.0
i) 5 - 2 5 = 2|V TR TR B PR3 354 % 4 46, 000 47, 000 A 2.1
i) 5 - 3| 5 - 3WIPETTETEET 2 8 1 039927 66, 200 66, 200 0.0
i) 9 - 1w 9 - 1P B E T 55452 22,100 22,100 0.0
e - 1 - 1|BrEmmARTERAI2147F 59, 400 60, 800 A 23
HE - 2/E = 2|BHE/INIER R T LARI@ 1 TR 114 54, 900 56, 300 A 25
e - 3|E - 3|t E 34397 | 46, 800 48, 200 A 29
#E - A - A|BrEihE RS AR602% 54,100 55, 300 A 2.2
e - 5| H - 5|FtE AN E651 3 37,000 38, 000 A 26
iz 5 - 1|tE 5 - 1| ElTE ST 82530 184 67, 600 69, 500 A 2.7
AR - 1|AEATIR - L|AEVTIRT T BT S 555754 27,000 27,100 A 0.4
OO0 —%%5) L
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RN Al A7

TR TR VE M 7 75 FHE « i /Aﬁgﬁ% /Af?gf}m% E%ﬁ? EmFER (R 5)
(FM/nf) (F3/nf) (%)

AR - 2|fEIATIR 2 BN AT T PLBT P 5 L EP2823 7 1 26, 000 26, 000 0.0
iy - 3|fiik 3 |l T AR i < E R 1 1672 20, 000 20,400 | A 2.0
WA 5 - LA 5 L BT T BT R < o T R 39219 1344 31, 200 31,900 A 22
)11 - 1% L4501 T2 PN 16137%:3 59, 000 59, 000 0.0
ol - 2% 2|39 A K 1 7297 47, 200 47, 400 A 0.4
5511 - 33 3451115 F )1 5 7116007 22 26, 300 26,600 | A 1.1
ol - A 4|39 G i 43771737 23, 600 24, 000 A L7
3511 5 - 1|5 5 {36117/ ME1892% 1 60, 200 60,600 | A 0.7
ol 5 - 2151 5 249N T/ PH5879% 61,900 62, 000 A 0.2
prEoE - 1|#rEoE LB E o E 1485 3665 1 84, 000 85, 200 A 1.4
grEoE - 2|ftEol 2Ot OE T HE L2 A5 LET70571 47, 300 48, 100 A L7
grEoE - 3|grEoE S|P OE iR 3291 T4k 88, 500 89, 900 A 1.6
grEoE - 4|FrEolE 4\ OE T F R T\ 550976 91, 000 92, 500 A 1.6
grEoE - 5|grEoE 5| E I H AT A %8287 105+ 83, 600 84, 300 A 0.8
prEoE - 6|rEoE 6| {0 [E T R {7/ 1N A 118073 1 89, 000 90,600 | A 1.8
grEoE - 7|FEoE T\GHZ O i L 1103%88 58, 500 59, 300 A 13
grEoE - 8|JrEol 8| O [ T AR i 7172 82, 000 83, 200 A 1.4
BrEoHE - 9lprEoE 9|BH L [ i L IR858 %20 51, 300 52, 500 A 2.3
graoE - 10|FrEolE 10|/t Z O [E il 5o 3647 1 57,900 58, 700 A 1.4
BrEoHE - ll|prEoRE L1 oo [ 7 R i) ' 7838 %3 72, 200 74, 100 A 2.6
pEoE - 12|FEom 12| 5 O [E M =A@ L 52256 67, 600 68,600 | A 1.5
grEoE 5 - 1|grEoE 5 L BT oo [ 7 R [ 7 H 7 ) 1078 25 22 91, 200 92, 700 A 16
prEOE 5 - 2fEoE 5 2| O E TR T F 44878 84, 900 86,000 | A 1.3
e i e HACZ JEHTRIRFIRASL29729 27, 200 28, 400 A 4.2
Lo - 2| 2\ S T — T H 1427 19, 400 19, 600 A 10
ez I - 3R 3Bz A i i 1300721 26, 200 27,300 | A 4.0
Lo - AHZR ABCZ T TS T & L 278435 29, 800 30, 200 A 13
ozl 5 - 1Bzl 5 LB ST 17213 14+ 34, 300 35,700 | A 3.9
Bozk 5 - 2z 5 2|z SR AT Y U 208171 40, 000 41, 200 A 29
T - L|EpE LB AR G BT R S /N 121191 39, 800 41,100 | A 3.2
WO - 2HptE 2| RRB O LT H R (L HR48673 30, 100 30, 800 A 23
HHFT 5 - 1HEET 5 B SERR R GH TR S AT H562% 124+ 71, 000 72,500 | A 2.1
T R SRRE LSRRI HE T e T /NS 1373 40, 500 41,700 A 29
i - 2| 2B PRI T S 4 657 5 T 29, 400 30,000 | A 2.0
e 3 5 - 1[iTHE 5 LB ERRIT T S5 5 1197 14 60, 200 61, 300 A 1.8
I - 1FEfE LB AR G BT R AR 257584 25, 700 26,100 | A 1.5
Gt - 2|mEprE 2B SERR P £ AT 55 TH B0 110475 21, 300 21,700 | A 1.8
BT 5 - 1|E#ET 5 LB SRR G T IT %S H A5260% 105+ 33, 000 33,900 | A 2.7
B - 1|Em 1| 7 BB T RS0 635753 63, 700 64,300 | A 0.9
il - 2|Kim 2| FH 5 08 1 P WS- 5 1300755 69, 000 70, 200 A L7
B - 3| 3| [ 5 R B T [ 4 2 N 15176 98, 500 98,600 | A 0.1
il - A% 4| 7 RS B T TSP H- 54 8 802510 54, 000 55, 000 A 1.8
B - 5|Em 5| FH 5 05 15 P T A0 B 1 FH 46973 49, 000 50,200 | A 2.4
L) - 6|EER FH 7 BB T A7 Ciie625 24 16, 900 - —
BEAURK - 1 |EREAK 1| BR AR KT A T4 52551 752 96, 800 97, 800 A 10
Bk - 2ERsiA 2|BEHCAIIE K IR Rk 26173 119, 000 119, 000 0.0
BEA - 3Btk 3| SR ARG K HT ) | A e 50122715 96, 600 97, 400 A 0.8
BRAUIK - 4|BORIK 4| BR RIS K HT 8 = — 1 23254 131, 000 130, 000 0.8
BEAURK - B[S AK 5| SR ORI /K BT Hili B <5 # 9889 115, 000 115, 000 0.0
ER - 1ER 1| BE BB RIT E Ao As = [ #502%5 127, 000 124, 000 2.4
R - 2|ER 2| BE AR SR AT T R ATk R6387 17 109, 000 108, 000 0.9
ER - 3|ER 3| BEHUAL R SR M A - M 426 %9 128, 000 126, 000 1.6
R - 4|ER 4|BEBUAR IR AT T 4455 Y 47150587 133, 000 132, 000 0.8
R - 5|ER 5|BRHUAR R IR T 475K 1840226 137, 000 136, 000 0.7
R - B|ER 6 |BE AR R SR AT F R AT EBF1026712 84, 000 83, 300 0.8
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RN Al A7

TR TR VE M 7 75 FHE « i @%&% ﬁ%%% %%i EfmFER ()
(FM/nf) (F3/nf) (%)
=3 5 - 1R 5 - 1|BEHUARRRAT AR LA KR 72872140 134, 000 133, 000 0.8
WAL = LA = 1 BRHCHE N LRT R TR R T 17995 44, 200 44, 600 A 0.9
BN~ 2L~ 2|BRBUER/ ST B AR E6 1055 1 18, 400 18, 400 0.0
/AN L - 3[EENL - B|BRAGAR/INLETYZ FET S A 1282% 36, 800 37,100 A 0.8
BRI = AR~ A[BETERN LT/ N L C 8989 417, 500 47,600 | A 0.2
/AN L - B[N = B|BRHUR/INLIAT R FA SR 104275 34, 200 34, 300 A 0.3
WAL = [N~ 6|BRHUERN LT T ETE3 1T 1 24, 000 24, 300 A 12
T 5 111 = L[ m - BRSBTS L 29720 43, 600 43, 600 0.0
mwREEm - 2fmEEm - 2|BRIFURR TS TR 3043 7%9 16, 900 18,000 | A 6.1
WREE 5 - 1|iEEE 5 - 1| BRERRE HATE 55 M 138676 45, 000 45,700 A 15
e - 1| AR - AR AR R 172674 37, 800 38,000 | A 0.5
Tl AR - 2wl AR - 2| A RVRIARHT I SR T N R 20697 3 24, 800 25,100 | A 1.2
Mk 5 - 1FMZ 5 - 1|EE BRI ARTHENT51 %1 28, 500 28, 900 A 1.4
A UE HF 2
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